	系所別
	電機三、電子三
	考試日期
	93/7/16

	考試科目
	電子學
	總頁數
	

	系所別
	會計二、會計二(進)

	考試日期
	93/7/16

	考試科目
	會計學
	總頁數
	

	系所別
	護理二、物治二
	考試日期
	93/7/16

	考試科目
	生理學
	總頁數
	

	系所別
	生科二
	考試日期
	93/7/16

	考試科目
	生物
	總頁數
	


PAGE  
義守大學100學年度碩士班入學招生考試試題
	系所別
	應用英語學系
	考試日期
	100/3/12

	考試科目
	英文
	頁碼/總頁數
	1/4


※此為試題卷，請將答案填寫在答案卷內，未寫於答案卷內者，不予計分。

※本科目不可使用計算機。

1、 選擇題 (1-30題，每題2分，共60分)

A. Vocabulary: 20%

Direction: Choose the word which would best keep the meaning of the original sentence.

1.  Under the virus attack, the _________ is temporarily shut down in the computer center.
   (A) server

(B) servant

(C) serving

(D) suffer
2.  If you have got a large family, it’s more __________ to travel by car than by train.

   (A) economical

(B) economic

(C) economics

 (D) economy

3.  Many pure metals have little use because they are too soft or have some other __________.
   (A) property
  
(B) drawback
    (C) additive

 (D) disparity


4.  Her new hair style must look good because she has received lots of _________ on it.
   (A) complaints     (B) compliments     (C) competition     (D) compensation
5.  Scientists ________ their theories by experiments before accepting them as true.
   (A) identify     (B) fortify    (C) verify     (D) signify
6.  She hopes to __________ her fear of flying so that she can begin to travel again.
   (A) operate    (B) organize    (C) outsmart     (D) overcome
7.  She was smoking; I could see the tip of her cigarette __________ in the darkness.
   (A) shining     (B) sparkling     (C) gleaming      (D) glowing
8.  It has been conclusively __________ that smoking causes many diseases, such as lung and live cancers.
   (A) established     (B) resolved     (C) admitted     (D) approved
9.  This piece of land is _________; it is rich in material needed to sustain plant.
   (A) hoarse    (B) fertile    (C) internal     (D) benevolent
10. The President reached a decision only after lengthy deliberation, painstakingly weighing the _______ opinions expressed by cabinet members.
(A) unanimous     (B) consistent     (C) divergent     (D) arbitrary
B. Grammar and Structure: 20%

Direction: Choose the letter of the word or group of words that would best complete the sentence.
11. Mary and John are such good friends that they frequently exchange gifts with ___________.
   (A) each other     (B) each one     (C) the other     (D) one another
12. Neither the hospitals nor the President _________ the responsibility.
   (A) have    (B) has     (C) is     (D) do
13. We can do nothing unless she _________ next week.
   (A) will consent 
(B) shall consent 
 (C) consents 
(D) is consenting
14. ​​​​​________ made her really angry with him was that he didn’t even apologize.
   (A) How it  
 (B) Whatever  
(C) That it  
 (D) What
15. Thomas Edison, _________, took out over 100 patents during his lifetime.
   (A) America’s most famous inventor who

(B) was America’s most famous inventor    
(C) for whom America’s most famous inventor
(D) America’s most famous inventor
16. Graduate students must know what their instructors’ expectations are. Different instructors may have __________.
   (A) different requirements and expectations.

(B) similar requirements and expectations.  
(C) many requirements and expectations.


(D) demanding requirements and expectations.
17. Many people worry about their drinking water. While government officials say the water is safe, 
____________.
   (A) many people don’t believe them

 
(B) people don’t get complete answers from them   
(C) tap water comes from lakes and rivers

(D) bottled water is a good idea
18. Thanks to the store’s big end-of-end sale last week, ______________.
   (A) I mostly saved a thousand dollars for the computer   
(B) I saved nearly a thousand dollars for the computer
   (C) I hardly saved any money for the computer       
(D) I saved hardly any money for the computer
19. _________ for water, all living creatures would die.
   (A) If it has not been    (B) Were it not    (C) If it had not been    (D) Was it not
20. Used as stimulants, ___________.
   (A) certain drugs help to relax one’s nerves    
(B) certain drugs slow down one’s reaction time

   (C) certain drugs cause increased breathing and heartbeat    
(D) certain drugs hinder the brains’ ability to function
C. Reading Comprehension: 20%

Direction: Read the passage and choose the best answer to each question.
   One step beyond automated machines is the industrial robot, the heart and brain of which is the microcomputer. Unlike most automated machines, industrial robots can be programmed to do a variety of tasks that are usually accomplished by human factory workers. Like their human counterparts, industrial robots can be switched from one job to another and can be programmed to handle new tasks. Thus far, robots have found their greatest use in assembling mechanical components. However, they are swiftly branching from basic assembly operations to construction and mining, and their most glamorous use of all, the exploration of oceans and outer space.
21. The author’s main purpose in writing this passage is to _____________.
   (A) argue the advantages of the industrial robot.
   (B) narrate a story about industrial robot
   (C) compare the industrial robot to human factory workers
   (D) describe the industrial robot and its uses
22. The author’s reaction to an innovative form of transportation, such as the electric car, would most likely be ____________.
   (A) surprise    (B) confusion    (C) negative    (D) positive
23. The paragraph following this passage would most likely be about _____________.
   (A) how industrial robots are used in exploration

(B) types and uses of automated machines
   (C) the uses of the microcomputer   



(D) how robots assemble mechanical components
24. The passage would most likely be found in ______________.
   (A) an entertainment magazine


(B) a popular science journal
   (C) a book of short stores



(D) a medical journal
25. It can be concluded from this passage that _______________.
   (A) robots will never replace human factory workers      
(B) industrial robots are not as versatile as automated machines
   (C) additional uses will be found for the industrial robot   

(D) the microcomputer will soon be used in automated machines
   As infants and caregivers respond to one another in the first year, the infant begins to form an attachment – a deep, affectionate, close, and enduring relationship – to these important figures. John Bowlby, a British psychoanalyst, drew attention to the importance of attachment when he observed the “dire” effects of separation from parents on children who had been orphaned during World War II. These children’s depression and other emotional scars led Bowlby to propose a theory about the importance of developing a strong attachment to one’s primary caregivers – a tie that normally keeps infants close to those caregivers and, therefore, safe. Soon after Bowlby described his theory, researchers in the United States began to investigate how such attachments are formed and what happens when they are not formed, or when they are broken by loss or separation. Perhaps the most dramatic of these studies was conducted with monkeys by Harry Harlow.  

26. In this passage, the word “dire” means _________.

   (A) very serious    (B) long-lasting    (C) affectionate    (D) very safe
27. This passage is mostly about __________.
   (A) John Bowlby    (B) attachment     (C) separation    (D) infancy
28. Bowlby observed children who were separated from their parents because of ___________.
   (A) neglect    (B) poverty    (C) war    (D) illness
29. According to the passage, the function of attachment is to ____________.
   (A) ensure that adults will care for an infant

(B) make sure infants are not depressed
   (C) keep infants healthy                  
(D) keep infants safe
30. What is the NEXT topic the author is likely to discuss?
   (A) how Bowlby developed his theory

(B) national differences in attachment
   (C) the effects of war on infants


(D) Harlow’s work with monkeys
二、作文 (共40分)

Task-Based Language Teaching (TBLT) refers to an approach based on the use of tasks in language teaching. Write an essay about 500 words regarding the question: “What are your impressions of the advantages and disadvantages of TBLT?” You have to use specific reasons and examples to support your opinions.

(content: 10%, organization: 10%, grammar: 8%, vocabulary: 6%, punctuation and others: 6%)
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